
SAP ABAP table COKP {CO Object: Control Data for Primary Planning}

COKP

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

OBJNR [CHAR (22)]

GJAHR [NUMC (4)]

WRTTP [CHAR (2)]

VERSN [CHAR (3)]

KSTAR [CHAR (10)]

HRKFT [CHAR (14)]

VRGNG [CHAR (4)]

VBUND [CHAR (6)]

PARGB [CHAR (4)]

BEKNZ [CHAR (1)]

TWAER [CUKY (5)]

RZKOA [CHAR (10)]

FCWKF [CHAR (4)]

FCWKV [CHAR (4)]

FCWKG [CHAR (4)]

FCWOF [CHAR (4)]

FCWOV [CHAR (4)]

FCWOG [CHAR (4)]

FCWTF [CHAR (4)]

FCWTV [CHAR (4)]

FCWTG [CHAR (4)]

FCMEF [CHAR (4)]

FCMEV [CHAR (4)]

FCMEG [CHAR (4)]

FCRKF [CHAR (4)]

FCRKV [CHAR (4)]

FCRKG [CHAR (4)]

FCROF [CHAR (4)]

FCROV [CHAR (4)]

FCROG [CHAR (4)]

FCREF [CHAR (4)]

FCREV [CHAR (4)]

FCREG [CHAR (4)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 COKP-KSTAR = CSKA-KSTAR 

0..N

1

 COKP-RZKOA = CSKA-KSTAR 0..N

{0,1}

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 COKP-OBJNR = ONR00-OBJNR 
0..N

1

T000

MANDT [CLNT (3)]

 COKP-MANDT = T000-MANDT 

0..N

1

T821S

MANDT [CLNT (3)]

SPRED [CHAR (4)]

 COKP-FCMEF = T821S-SPRED 

0..N

{0,1}

 COKP-FCMEG = T821S-SPRED 

0..N

{0,1}
 COKP-FCMEV = T821S-SPRED 

0..N

{0,1}
 COKP-FCREF = T821S-SPRED 

0..N

0..N
 COKP-FCREG = T821S-SPRED 

0..N

0..N
 COKP-FCREV = T821S-SPRED 

0..N

0..N
 COKP-FCRKF = T821S-SPRED 

0..N

0..N  COKP-FCRKG = T821S-SPRED 

0..N

0..N  COKP-FCRKV = T821S-SPRED 

0..N0..N
 COKP-FCROF = T821S-SPRED 

0..N
0..N  COKP-FCROG = T821S-SPRED 

0..N0..N  COKP-FCROV = T821S-SPRED 
0..N0..N

 COKP-FCWKF = T821S-SPRED 0..N{0,1}

 COKP-FCWKG = T821S-SPRED 

0..N
{0,1}

 COKP-FCWKV = T821S-SPRED 

0..N

{0,1}

 COKP-FCWOF = T821S-SPRED 

0..N

0..N

 COKP-FCWOG = T821S-SPRED 

0..N

0..N

 COKP-FCWOV = T821S-SPRED 

0..N

0..N

 COKP-FCWTF = T821S-SPRED 

0..N

0..N

 COKP-FCWTG = T821S-SPRED 

0..N

0..N

 COKP-FCWTV = T821S-SPRED 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]
 COKP-VBUND = T880-RCOMP 0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COKP-TWAER = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 COKP-PARGB = TGSB-GSBER 

0..N

1

TKA09

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VERSN [CHAR (3)]

 COKP-VERSN = TKA09-VERSN 

0..N

1


